NATIONAL SENIOR CERTIFICATE EXAMINATION

SUPPLEMENTARY EXAMINATION — MARCH 2019
assessment matters

ACCOUNTING: PAPER |
MARKING GUIDELINES

Time: 2 hours 200 marks

These marking guidelines are prepared for use by examiners and sub-examiners,
all of whom are required to attend a standardisation meeting to ensure that the
guidelines are consistently interpreted and applied in the marking of candidates'
scripts.

The IEB will not enter into any discussions or correspondence about any marking
guidelines. It is acknowledged that there may be different views about some
matters of emphasis or detail in the guidelines. It is also recognised that,
without the benefit of attendance at a standardisation meeting, there may be
different interpretations of the application of the marking guidelines.
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QUESTION 1 MANUFACTURING (28 minutes)

PART A

1.1 Refer to the information in the Information Booklet relating to Sprint Fast
Manufacturers.

1.1.1 Calculate the cost of the direct labour for the year.

6 000 x 28 x 12 = R2 016 000
UIF R20 160
Overtime 190 x 28 x 85 = 452 200

Total = 2 488 360

1.1.2 With the use of figures, justify why it would be a good idea to
increase the number of direct labourers in this business instead of
paying so much money on overtime.

Overtime cost is R452 200, one full-time labourer costs you

R72 000 plus 1% + R7 20 total cost = R72 720. Sprint Fast could
employ 6 full-time workers with the money they are paying out for
overtime.

Instead of 5 320 hours of overtime they could get 6 workers full
time.

1.1.3 Complete the factory overhead note for the production cost
statement for the year ended 30 December 2018.

Note 3: Factory overhead cost

Indirect material (6 600 + 79 000 72 950

— 4200 —900 — 7 550)

Salaries: Foreman (156 000 182 700

+ 15600 + 11 100)

Electricity and water (52 000 x 75 %) 39 000
76 000 52 000

Rent expense [ x1 BOOJ

Insurance (30 800 — 8 800) 24 000

Depreciation 123 000

DO NOT CALCULATE

1.1.4 Calculate the cost of production of finished goods.

47 500 + (3 100 000 x 100/ 125) — 55 000
2480 000

=2472 500
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PART B

1.2 Refer to the information in the Information Booklet relating to Lever Sleeves
and answer the questions that follow.

1.2.1 Calculate the break-even point for 2018.

(108 + 54) x 3 600
583 200

(450 - 360)

Break even: 6 480

1.2.2 Calculate how much the selling price should have been increased to
in 2018 to ensure that the business broke even on the number of
items that they produced for the year.

OR (108 +54 + 360 =522)
583 200 /3600 =162 + 360 =522
Selling price should have been R522.

1.2.3 Provide a reason for the decrease in the break-even point from 2017
to 2018. (Do not mention the fact that the selling price was not
increased.)

| Increase in variable costs Admin costs |

1.2.4 Provide ONE reason for the change in the direct material costs per
unit and the direct labour costs per unit.

Inflation will lead to an increase in direct material costs (ARA).

This could have been because of a decrease in overtime costs.
Oversupply of workers the previous year.
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QUESTION 2 CASH FLOW STATEMENT (29 minutes)

Refer to the information in the Information Booklet relating to Outdoor Expo
LTD.

2.1  Prepare the note to the Cash Flow Statement for the reconciliation of profit
before taxation and cash generated from operations on 30 November 2018.

Net profit before taxation 1 884 000

Adjustment in respect of:

Depreciation 130 000
0

Interest on loan (700 000x11% =38 500) 73700

(640 000 x 11% /2 =35 200)

Operating profit before the changes in working capital 2099 700

Changes in working capital (11 600)

Increase in inventory (1 700 600 — 1 441 000) (259 600)

Decrease in debtors (1 100 000 + 20 000)

_ (930 000 + 21 000 + 9 000) 160000
Increase in creditors (829 400 — 741 400) 88 000
Cash generated from operations 2 088 100

CALCULATION OF INVESTING ACTIVITIES

Carrying value at the beginning of the year 3503 250 8%300
Depreciation )

(170 000)
Disposals at carrying value (Mxloj

12 X

300 000 — 130 000

3683 250
Additions at cost
Carrying value at the end of the year X = 480 000
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2.2 Complete the Cash Flow Statement of Outdoor Expo LTD for the year
ended 30 November 2018. Show all working detail in brackets.

Cash flow from operating activities DO NOT CALCULATE
Cash generated from operations 2 088 100
Interest paid (19 250 + 73 700 — 17 600) (75 350)
Dividends paid (256 000 + 616 000) (872 000)
Taxation paid (— 4 400 + 900 000 — 4 800) (890 800)
Cash flow from investing activities DO NOT CALCULATE
Purchase of tangible assets (480 000)
Proceeds from the sale of tangible assets 170 000
Cash flow from financing activities DO NOT CALCULATE
Proceeds from the issue of shares

4 608 000 — (4 200 000 — 20 000 429 000
x 1.05c)

Buy-back of shares (25 000)
Repayment of capital portion of long-term (60 000)
borrowings (700 000 — 640 000)

Net change in cash and cash equivalents 283 950
Cash and cash equivalents at the beginning of (110 000)
the year

)C/:eaasrh and cash equivalents at the end of the 173 950
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QUESTION 3 COMPANIES (42 minutes)
Refer to the information in the Information Booklet relating to Greystone LTD.

3.1 Complete the following notes to the Balance Sheet on 28 February 2018.

3.1.1 Fixed (tangible) assets

BUILDINGS VEHICLES EQUIPMENT
Cost 2 250 000 751 000
Accumulated (1 350 000) (283 000)
depreciation
Carrying value Do not calculate 468 000
MOVEMENTS Do not calculate Do not calculate Do not calculate
Additions at cost 5 200 000 - 49 600
Dlsp(_)sals at (168 750) i
carrying value
Depreciation (309 375) (96 080)
Carrying value Do not calculate Do not calculate Do not calculate
Cost 5 200 000 1 687 500 800 600
Accumulated (1 265 625) (379 080)
depreciation

Show the following calculations:
Vehicles: Equipment:

Disposal at carrying value:

Depreciation 468 000 x 20 %

2250000 _ ) =93 600
— 0,
2 250 000/4 = 562 500 New 22 603; 20% 2 _ 5 480
Disposal = 562 500 x 15% x 4
=337 500
0,
562 500x15% o e
12
Disposal 562 500 — 337 500
— 56 250
= 168 750

Depreciation on vehicles:

56 250 + 253125
=309 375

Accumulated depreciation at
year end 2018

1 350 000 — 393 750
+309 375 =1 265625
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3.1.2

Ordinary share capital

Page 7 of 9

3.1.3

3.1.4

490 000 Issued shares on 1 March 2017 5 848 000
160 000 Addltlonal shgres issued @ R11,51 1 841 600
during financial year

50 000 Shares repurchased (50 000 x 11.83) (591 500)
600 000 Issued shares on 28 February 2018 7098 100
Retained income

RETAINED INCOME

Balance as at 1 March 2017 465 300
Net Profit (281 400 x%) 723600
(1 005 000 — 281 400)

Repurchase of shares (50 000 x 4,17) (208 500)
(16 —11,83)

Dividends for the year (919 000)
Interim dividend 295 000
Final dividend (650 000 x 96 cents) 624 000
Balance as at 28 February 2018 61 400
Trade and other payables

Creditors control 206 500
Accrued expenses 113175
Creditors for salaries

(45 000 — 2 650 — 450 — 3 150) 38 750
SARS - PAYE 2 650
Pension fund (3 150 + 4 500) 7 650
SARS — UIF (450 + 450) 900
Directors fees [216 000 + (M X % D 264 000
Shareholders for dividends 624 000
SARS — Income tax 30 100
Short-term portion of the loan [@xlzj 348 000

DO NOT CALCULATE

3.2  Calculate the net asset value per share after the repurchase of shares.

7 098 100 +61 400

600 000

11,93

cents
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QUESTION 4 INVENTORY AND VAT (21 minutes)
PART A
Refer to the information in the Information Booklet relating to Balls and Bags.

4.1  Hector suspects that rugby balls are being stolen from his business and
asks you to investigate whether his suspicion is correct.

3600 + 10200 —10500 —2600 —200 =500 rugby balls have been
stolen

4.2  Calculate the value of Hector's closing stock.

4.2.1 Rugby balls

(432 000 +1506 000 + 70 200)
(3 600 +10 200)

Value of stock 2 600 x R145,52 = R378 300 or 378 356

4.2.2 Kit bags

(300 x 300) + (450 x 225) = R191 250

4.3  Calculate the following for kit bags:

4.3.1 The cost of sales figure

405600 +11600000—-191250 =1 1814 350

4.3.2 The mark-up that was achieved on cost

OR 2373000/ 1814 350 % — 100 = 30,79
OR 639650 /1814 350 % =30,79

4.3.3 The rate of stock turnover

1814 350/ % (405 600 + 191 250)
times 1814 350/ 298 425 = 6,07 times
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PART B (this DOES NOT relate to Part A)

Refer to the information in the Information Booklet relating to Bling Girl
Fashion Jewellery.

4.4  Calculate the amount owing to SARS in respect of VAT at the end of
June 2018. (Use brackets to indicate a minus or decrease in the amount
owing to SARS)

Transaction Amount
number SARS

VAT output R11 120
VAT input (R3 210)
44.1 + 1 008
4.4.2 (— 1 498)
443 +78
4.4.4 + 42
4.45 + 3 360
4.4.6 + 22,35
4.4.7 (=90)

10 823

4.5 The owner of Bling Girl Fashion Jewellery is concerned about the impact of
the 14% to 15% increase in VAT. Discuss if his concern is valid.

There will be little impact as the input and output VAT will continue to be
set off against each other.

OR

Customers will have less disposable income because they are spending
more on VAT, this could cause a reduction in sales.

Total: 200 marks
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